Odeshogs BK

RealBridge_Foranmaéalan 2022-01-17

Partavling, 7 bord, 14 par. Antal brickor: 26. Medel: 156.0.

Plac Par Poang % Namn MID Klubb
1 7 186.5 59.77 Gunnar Wall - Birgitta Wall 53881 53880 Vadstena Bridgeklubb
2 14 178.8 57.30 Lennart Josefsson - Christer Angantyr 92675 31027 Motala Bridgeallians - Vadstena Bridgeklubb
3 13 178.6 57.25 Josef Efraim - Bjorn Jonasson 26062 52555 Odeshdgs BK
4 9 177.2 56.80 Noomi Rydberg - Yngve Kennemyr 30694 30695 Odeshdgs BK
5 4 167.3 53.62 Per-Axel Svensson - Inga-Britt Svensson 37399 37446 Odeshogs BK
6 3 162.3 52.01 Birgitta Engstrém - Christina Ljunggvist 59264 56605 Odeshdgs BK - BK S:t Erik
7 6 158.9 50.93 Godran Roth - Britt Andersson 65231 43343 Odeshdgs BK
8 8 156.3 50.11 Arne Friberg - Hans Wall 87627 53007 Motala Bridgeallians - Skéanninge BK
9 2 1556 49.86 Karl-Goéran Karlsson - Gun-Britt Andersson 26455 54750 Odeshogs BK
10 5 144.1 46.18 Nils Orrenius - Susanne Orrenius 37397 37395 Odeshdgs BK
11 10 133.4 42.74 Ulla-Britt Back - Ove Back 65235 65233 Odeshdgs BK
12 1 1325 42.48 Ann-Charlotte Tunemar - Hakan Tunemar 62993 62994 Odeshogs BK
13 11 131.7 42.23 Astrid Ekinge - Robert Ekinge 44022 44023 Motala Bridgeallians
14 12 120.9 38.74 Christina Stromer Lundebro - Dennis Sdrensen 26065 81245 Odeshogs BK
1 4 EKn3 Basta kontrakt 2 & KKn1098 Basta kontrakt 3 & Kn432 Basta kontrakt
Nord vD4 34 O =-140 Ost v Kn7 6y O =-980 Syd v 105 4v V =-620
Ingen ¢ EKKn82 NS + D9 ov + K75
#1098 & ¢ v & NT #10732 & ¢ v & NT #K1054 & ¢ v & NT
4876 4 KD1042 N487 47 a5 476 N6 4172 4D10965 4K N57 3505
vKn875 vK6 S487 47 vED3  vK1098654 S 6 4 1 7 2 vKKn982 v D64 S47 255
¢D543  ¢9 0956 95 ¢EB8732 +54 07 9 125 8 *4 ¢ ED92 O8 6 108 8
*K2 *ED764 VI9559€6 #KD85 #E9 vV 7 9 125 8 83 #EKn972 vV 7 6 108 7
495 4 ED432 ~ E87
v E10932 v2 vE73
+ 1076 + KKn106 + Kn10863
#Kn53 #Kn64 «D6
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
5 6 3NDV-3 ¢A 500 120 00| 9 10 24 S+1 +3 140 120 00(13 9 2¢ 04 A 400 120 0.0
9 10 2NN+2 42 180 100 20| 1 2 4v0+2 &A -480 50 70| 8 11 2¢ S-1 3 -50 10.0 2.0
7 8 2vN-1 +9 -50 80 40| 3 4 4v0O+2 o4 -480 50 7.0(|14 12 24 N-2 ¢ A -100 8.0 4.0
1 2 14a0+3 ©vYA -170 50 70| 5 6 4v0+2 &A -480 50 70| 3 2 2vV+1l 45 -140 6.0 6.0
13 14 24 O+2 49 -170 50 70| 7 8 4v0O+2 &A -480 50 70| 5 1 3vV+l ¢K -170 40 80
3 4 3NN-4 *7 -200 1.0 11.0|11 12 4v O+2 &4 -480 50 70| 7 4 2NO+2 8 -180 2.0 10.0
11 12 3vS-4 48 -200 10 11.0|13 14 4v O+2 v2 -480 50 7.0[10 6 4vV+l ¢K -650 0.0 12.0
4 ~ E83 Bésta kontrakt 5 « ED87 Bésta kontrakt 6 4 86 Bésta kontrakt
Vast v D93 24 V =-110 Nord v E653 7¢ OD-61400 |Ost v 1075 44 O =-620
Alla + ED8 NS + EKD ov ¢ E742
#D953 & ¢ v & NT #Kn3 & ¢ v & NT #7642 & ¢ v & NT
4 K75 4 Kn1094 N6 7557 495 4 K1042 N 126 101012 | 4ED109543 4Kn N37 435
vE2 v KKn865 S 68457 v 872 v DKn4 S 126 101011 | ¢93 v EKn842 S37 435
4943 4102 06 4885 49876542 ¢ Kn103 017231 +K + D106 09 6 9 107
287642 #KKn V64885 *2 *E74 V17231 #Kn95 #«ED103 V96 9 107
4 D62 4 Kn63 4 K72
v 1074 v K109 v KD6
+ KKn765 .- + Kn9853
«E10 #KD109865 »K8
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
14 12 2¢ S+2 vA 130 120 00| 6 13 3NN+3 ¢J 690 80 40| 7 3 3NO-3 +5 300 120 0.0
3 2 2¢S-= oK 90 90 30| 7 3 3NN+3 2 690 80 40| 5 2 3NO-2 +3 200 8.0 4.0
10 6 2¢ S= vA 90 90 30|10 1 3NN+3 T 690 80 40|11 4 2NO-2 +3 200 8.0 4.0
5 1 2NN-1 v8 -100 30 90|11 4 3NN+3 42 690 80 40|12 9 3NO-2 +9 200 8.0 4.0
7 4 2¢S-1 vA -100 30 90|12 9 3NN+3 44 690 80 40| 6 13 24 V+1 &7 -140 40 80
8 11 2¢ S-1 *2 -100 30 90| 5 2 4vyN+1 ¢J 650 20 100|114 8 34 V+1 ¢2 -170 2.0 10.0
13 9 2NN-1 v5 -100 30 90|14 8 54S+1 6 620 00 120|10 1 3NO= 8 -600 0.0 12.0
7 a3 Bésta kontrakt 8 a74 Bésta kontrakt 9 4 KD74 Bésta kontrakt
Syd vE103 7v S =2210 Vast v E1098642 74 V =-1510 Nord v KD92 5v N D -2-300
Alla + EKn9864 Ingen ¢ 10752 ov ¢ 432
#E107 & ¢ v & NT »- & ¢ v & NT *72 & ¢ v & NT
4 K752 4 DKn96 N 9 12138 12 4 EKNn92 D865 N32602 4103 4 Kn95 N12972
v874  vKné5 S 9 12138 12 vK753 v- S32602 v6 vE108 S12972
+75 ¢+ D10 041051 ¢+ E94 ¢+ KKn86 O 10116 1211 + EKD1085 ¢ Kn96 O 11114 4 9
#D532 #KKn96 V41051 #43 #EKD62 V 10117 1311 #ED109 #Kn543 V 11114 4 9
«E1084 4 K103 « E862
v KD92 v DKn v Kn7543
+ K32 +D3 *7
*84 #Kn109875 *K86
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
7 2 3NS+2 &2 660 11.0 10(13 1 3v N= A 140 120 00|14 3 3vN+1 ¢6 170 120 0.0
13 1 3NS+2 42 660 11.0 10( 9 8 54V-2 +5 100 100 20| 9 4 3vN= 3 140 9.0 3.0
9 8 3NN+1 4Q 630 80 40|11 3 34V= +5 -140 80 40|13 5 3vS= ¢A 140 9.0 3.0
4 14 1v S+6 42 260 6.0 6.0[10 5 44 V= vA -420 6.0 60| 8 6 1¢ V+3 &K -130 6.0 6.0
12 6 2¢ N+5 49 190 40 80| 4 14 54 V= vA -450 40 80| 1 12 2¢ V+3 44 -150 30 9.0
10 5 3¢ N+3 &6 170 10 11.0| 7 2 44 V+2 vA -480 10 11.0|11 7 4¢ V+1 vK -150 3.0 9.0
11 3 3¢ N+3 «Q 170 10 11.0|12 6 44 V+2 ©vA -480 10 11.0|10 2 4vyDN-3 J -500 0.0 12.0
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10 & K9652 Basta kontrakt 11 4 KKn3 Basta kontrakt 12 4 K9 Basta kontrakt
Ost vE752 44 O =-130 Syd v KKn108 34 S =110 Vast vKn76 3v N =140
Alla + K3 Ingen + K9 NS + Kn63
*K2 & ¢ v & NT #DKn83 & ¢ v & NT #ED1065 & ¢ v & NT
a7 «E10 N3 4797 2 E1052 4974 N9 6876 210543 4 ED76 N9 796 8
v D96 v K43 S34786 v6432 vE95 S96876 vD108 vK4 S97 96 8
¢+ Kn10764 ¢ ED92 O 108 5 4 6 ¢ES5 ¢ DKn642 047565 *75 ¢ K9842 046 365
#D1095 *Kn763 V 108 5 4 6 *E92 »54 V475675 #K832 #74 V46 3675
# DKn843 » D86 & Kn82
v Kn108 vD7 v E9532
+85 410873 ¢+ EDI10
»E84 +K1076 *Kn9
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 5 44 O0-2 «Q 200 120 00|13 10 INN+2 ¥5 150 11.0 10|13 10 3vS+1 #2 170 120 0.0
10 2 34 N+1 ¢A 170 100 20|14 7 INO-3 +3 150 11.0 10 3 9 3vS= ¢5 140 8.0 4.0
1 12 34 N= ] 140 70 5011 2 24 0-2 vQ 100 80 40| 6 4 3vS= ¢7 140 8.0 4.0
8 6 34S= vQ 140 70 50| 3 9 laVv-l v8 50 40 80|14 7 3vS= ¢5 140 8.0 4.0
14 3 44 0-1 A 100 40 80| 6 4 2¢0-1 vQ 50 40 80| 8 1 2vS= T 110 40 80
9 4 44 S-1 *9 -100 20 10012 5 1laV-1 *Q 50 40 80(12 5 3NN-1 +8 -100 2.0 10.0
11 7 2¢ O+2 v8 -130 00 120 8 1 24V= +K -110 00 12011 2 24 0= vA -110 0.0 12.0
13 « EDKn1075 Bésta kontrakt 14 s K4 Bésta kontrakt 15 4 DKn83 Bésta kontrakt
Nord v10 34 N =140 Ost v K97 ANT S =430 Syd v EKn 34 S =140
Alla + DKn62 Ingen + EK106 NS + Kn873
*96 & ¢ v & NT *D973 & ¢ v & NT #DKn3 & ¢ v & NT
484 #9632 N8 7 496 473 » E10982 N 10107 9 10 » 109 4652 N8 7 6 9 8
vD9842 vEKKn S87 496 vDKn10532 vE6 S 9 107 8 10 v 10853 v K962 S876 98
¢ K9854 +E 046824 ¢ 832 +95 033643 ¢ D1065 ¢ E92 0467 45
#Kn #D7532 V462824 #54 #Kn1086 V33643 *E54 *K107 V56745
+K # DKn65 « EK74
v 7653 v84 vD74
41073 ¢ DKn74 ¢+ K4
#EK1084 *EK2 #9862
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
4 1 24 N+1 vA 140 11.0 10| 4 1 3NN+2 49 460 120 00| 7 6 34 N+1 &T 170 120 0.0
14 11 24 N+1 ¢A 140 11.0 10 6 3 3NN+1 42 430 80 40|14 2 34S-= A 140 100 20
5 8 24 N= ¢A 110 80 40| 9 7 3NN+1 48 430 80 40| 9 11 24 S= ¢6 110 8.0 4.0
12 10 3v V-1 +Q 100 6.0 6.0|14 11 3NN+1 #8 430 80 40| 1 3 44S-1 v3 -100 50 7.0
6 3 34N-1 *A -100 20 100 5 8 3NN= 42 400 20 100 4 5 44 S-1 *A -100 50 7.0
9 7 3a4N-1 ¢ A -100 20 10.0|12 10 3NS= vT 400 20 10.0| 8 10 44 S-2 *5 -200 1.0 11.0
13 2 4e4N-1 vK -100 20 100|113 2 3NN= T 400 20 10.0|12 13 44 S-2 +5 -200 1.0 11.0
16 4 K86 Basta kontrakt 17 49875 Basta kontrakt 18 4« Knl0 Basta kontrakt
Vast v D984 34 V =-140 Nord vEG3 54 N =450 Ost v 98632 24 O =-110
oV 4103 Ingen +D NS ¢ 642
#Kn1092 & ¢ v & NT »EK1084 & ¢ v & NT »E62 & ¢ v & NT
« D543 4 EKnl10 N4 4846 «4ED32 &Kn N9 7 9 119 «D98632 4 K74 N7 7855
v7 v Kn32 S 44846 v52 v DKn104 S 107 9 119 v Kn7 vE54 S77855
¢ KD76 4985 098597 410843 ¢ Kn7652 036423 +E3 ¢ DKn87 O6 6 486
#EKDS5 #8743 V98597 D73  #Kn95 V36423 +D84 *Kn73 V66 486©6
4972 » K1064 «E5
v EK1065 v K987 vKD10
¢ EKn42 + EK9 + K1095
*6 *62 #K1095
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 5 3vS= A 140 100 20| 3 5 24 N+3 vT 200 11.0 10| 6 11 3¢ N-1 a4 -100 110 1.0
9 11 2vS+1 &A 140 100 20| 8 13 24 N+3 vQ 200 11.0 10| 9 14 4v N-1 Ly -100 110 1.0
14 2 2vS+1 ¢K 140 100 20| 9 14 2NS+2 42 180 80 40| 3 5 2eV= *A -110 70 5.0
8 10 1v S= *Q 80 60 60| 6 11 2¢vS+1 #3 140 50 70| 8 13 24 V= v9 -110 70 5.0
1 3 4vS-1 v7 -50 40 80(10 4 3vS= 3 140 50 7.0(10 4 24V+l #A -140 30 9.0
7 6 3vS-2 *A -100 20 100 1 7 34 N-1 vQ -50 10 110|12 2 24 V+l v9 -140 3.0 9.0
12 13 24 V= vQ -110 0.0 120(12 2 44 N-1 vQ -50 10 110| 1 7 24V+2 46 -170 0.0 12.0
19 4 E6 Bésta kontrakt 20 4 E974 Bésta kontrakt 21 4 D1098 Bésta kontrakt
Syd vD9 34 SD-1-100 Vast v63 3v V =-140 Nord v 83 4v O =-420
oV ¢ 10754 Alla + Knl0 NS + E10963
#EKn1085 & ¢ v & NT #D9432 & ¢ v o NT «D9 & ¢ v o NT
D105 4KKn4 N9 5487 48652 «D3 N8 34765 « E53 #7642 N4 8 354
vEK64 ¢Knl0752 S 9 5 4 8 7 v42 v EK9875 S83475 vKDKn75 vE1042 S 48354
¢ Kn862 ¢ KD3 047 956 ¢ K954 ¢ ED32 O5 109 6 7 ¢+ D2 ¢+ Kn O 8 5 108 8
*K6 *73 V48956 #K108 #Kn vV 5 109 6 7 #E43 #KKn75 vV 8 5108 8
498732 « KKn10 « KKn
v 83 v DKn10 v 96
¢+ E9 + 876 + K8754
«D942 *E765 10862
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
11 1 4v V-2 A 200 120 00| 9 2 4¢0-2 A 200 120 00| 7 10 3v V= ¢ A -140 120 0.0
4 13 3v0O-1 49 100 90 30|11 1 1vO= +6 -80 100 20| 6 9 INV+2 8 -150 100 2.0
8 12 4v O-1 «2 100 90 30| 6 14 2v 0= *A -110 80 40| 4 12 2¢V+2 &Q -170 8.0 4.0
9 2 4&N-1 +K -50 6.0 60| 3 10 1vO+2 8 -140 40 80|13 3 4v V= *9 -420 6.0 6.0
3 10 3vO= ¢ A -140 30 90| 5 7 3vO0O= *A -140 40 80| 1 14 4v V+1 A -450 2.0 10.0
6 14 3v V= *T -140 30 90| 8 12 1v O+2 A -140 40 80| 5 11 4v V+1 +A -450 2.0 10.0
5 7 4v 0= ¢ A -620 0.0 120( 4 13 3v O+1 &K -170 0.0 120| 8 2 4vV+1l #Q -450 2.0 10.0
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22 4 E52 Basta kontrakt 23 4 DKn3 Basta kontrakt 24 4 E1042 Basta kontrakt
Ost v 98642 5# O =-600 Syd v 84 3v V =-140 Vast v2 4 N =130
ov ¢ 10543 Alla ¢ E105 Ingen ¢ K10432
*5 & ¢ v & NT +K10764 & ¢ v & NT +Kn84 & ¢ v & NT
«D4 4« Kn1093 N276 44 « EK7 49 N54375 4 D653 4 KKn98 N 109 8 6 7
vKn73  vE10 S276 44 vEK102 ¥DKn97 S54375 v8765 v943 S 108 7 6 7
¢EK82 ¢9 0116 6 7 9 49643 ¢ Kn72 088958 ¢+ Kn87 ¢ ED6 034476
#EDKN9 #K87432 vV 116 6 7 9 *E9 #D8532 V889538 *E7 «D62 V34373
« K876 41086542 a7
v KD5 v 653 v EKDKn10
¢ DKn76 + KD8 ¢ 95
»106 *Kn #K10953
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 10 3¢ V-4 &5 400 120 00|14 5 24S= A 110 120 00| 6 2 4vyS= A 420 120 0.0
13 3 2y N= &2 110 100 20| 6 2 3NO-1 +8 100 90 30| 4 8 340-3 vA 150 100 20
1 14 3¢ V-1 4A 100 80 40| 7 13 4v0-1 *J 100 9.0 30|10 11 2vS= A 110 8.0 4.0
4 12 3« 0+1 o7 -130 60 60| 4 8 2vV= +5 -110 60 60| 3 12 1vS= *A 80 60 6.0
8 2 440+1 ¢ -150 40 80| 3 12 INV+2 &4 -150 40 80|14 5 4vS-1 *A -50 40 8.0
5 11 3NV= v2 -600 1.0 11.0] 1 9 1lv V+3 &4 -170 1.0 11.0| 1 9 4vS-2 43 -100 1.0 11.0
6 9 50-= 46 -600 1.0 11.0|10 11 2vV+2 5 -170 10 110 7 13 3vS-2 43 -100 1.0 11.0
25 1084 Bésta kontrakt 26 « EKD1084 Bésta kontrakt
Nord vED7 2# N =90 Ost v3 34 S =140
ov +54 Alla ¢ K1074
#96532 & ¢ v & NT #65 & ¢ v & NT
#DKn9632 475 N8 6 6 66 +93 & Kn52 N78597
v3 vK109542 S 8 6 55 6 vKKn765 v D982 S78597
¢E7 ¢ D10986 os57777 ¢ DKn2 ¢ E83 06 4846
#KDKNn7 - V57677 #E94 #KKn8 V64846€6
«EK 476
v Kn86 vE104
¢ KKn32 + 965
#E1084 «D10732
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
1 6 34V-3 v7 300 110 10| 3 8 34 N-= vQ 140 100 20
5 9 3v0-3 «A 300 11.0 10( 5 9 1aN+2 ¢A 140 100 20
10 14 2v O-2 4K 200 70 50|12 7 24 N+1 ¢A 140 100 20
12 7 34 V-2 ¢5 200 70 50| 1 6 1aN+1 ¢9 110 6.0 6.0
11 13 3« S-1 v3 -50 40 80|10 14 4v0-1 «6 100 40 80
3 8 24V+l YA -140 20 100| 4 2 3a4N-1 vQ -100 1.0 11.0
4 2 24 N-5 v9 -250 0.0 12011 13 34 N-1 v2 -100 1.0 11.0
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